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ACADEMIC Algebra 1 Name _
Chapter 9 Review (circle final answer) Date Period
Name each polynomial by degree (1st word) and number of terms (2nd word).
1) —10x® 2) 6-— 2x®
‘ linear monomiaﬂ ‘W
3) 3+ 7.8 4) 8x +5x9)
madraﬁc binomial I’albic binomial
5) =2 6) 4— 8+ 9x
@stam monomial quadratic lrinomiarl
Simplify each sum.
7) (3/— x* —/I’) + (2/— 34(2/— 2x3) 8) (3x4 - %" = 3x3) + (-—4x4 g - 6)

4 3_.2
" = = =

| -3+ |

Simplify each difference. Step 1 - rewrite as an adition problem.
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9) (—6x% — x* + 6x) + (8x> — 6 + 6x2) 10) (6x* —x — x?) + (—x — 2x* + 8x?)
:_(f_il ;"lgt&\ “";g_‘x %“f“a -:(2.),(;- uxfy\”_)fl‘\’}é +2‘X‘f ——'g):_.z
‘[‘fxa’—lzx‘ﬂ,x +G | $xH -qx 2|

Factor. Remember to mentally multiply to check.

Qo
i ‘IS / J/ 4 S
11) x*+2x-15 G 12) x> +x-90 g e
G+ 5)x-3) | oG] s

13) ¥ = 10x+25 = (x -$)( x -5 l 14) ¥ 81 =

_—

. 10
15) x* +20x + 100 :,(,( £16) (x4 10) 16) x> = 17x+70 — \;\'bb'

(x + 10) @-7)()(_10)\
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Factor each completely. Remember:\ Step 1 in factoring is to look for a GCF!!} T g
2\

17) 6x* —24x +24 = é(xz—‘lx—‘f/g‘é 18) —4x? —16x+128 = —4 ( x =+Yx __31’)@
| 6(x-3) (x-2)\ [Aar8-a)]

19) 5x*-80 = S (x 2'-1(.} = 20) 4x* - 4x =[‘7>( CX—I)\
[sk-ax+a) | O | '

L b
i
21) 9x2 +21x—18 =3 (3x 247y - )@ 22) 4x*+6x+4 = =2 (2x243x42) =

3(3x - 2)(i+,3)_[/ Liz(zx +1)(x-2) j & :

Solve each equation by factoring. Remember to use your calculator to check in the original
equation!

23) x> = 7x=0 24) x* —10x+25=0
X X=7)=0 (X-S)(x-5) =0
<. ED
4 00y
T ¢, 0=0V & o=0/
- ®Pu‘\” JATO S %
=0
25) 5x%+15x — 52 =2 AxtEHREC 26) 4x> - 105=-15_
+2 2 +S =
o 5 B
' 2_100=0
Syl +1lsx —-50-0 (D Facve Hx >-10

C¥F _ =0
5(x7—+z>x~w)=0</ - a,\) Lol =
O o e G W ) a0
g @ SET FACTO45=0 “i/:a? X—8570 X+S=0

o
£3d X+§30  x-2°0 e CORCE,
/J@ D @lhecks oisesl cissV/
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a:-2:-2v" C:12/ 0 2.3 G EQ.'
Use CaALC
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27) x* = 9x+20=0

(x —4) (x-S) =0

X-4s50 X =0
X=4
0. 0=0/ C-0=0,
O
29) 5x°

~ 3557 + 80x=20<0
— 20X —-2\0X

x> —3SX% +6ox =0

5x (x*-7x+12) =0

Sx (X-3)(x-4) =0

S X =0 X—-3=Q
&=9

C:o0=0/ G Lo=00/

Solve each equation by factoring. Check in the original equation!
(<]

30) 2x2+6=—‘7x
TXx X / LG
A s

23
2Zx L +1x +6 =0

(2x ¥3)(xd ) =
Z x+3 =0 X+Q=0
7 )

o
32) 5x° + 15x% — 45x =Sx
-Sx -3«
Sx>t+ISx* =50 X =0

5x (x %+ 3x —-10) =0
S5A (X+s)(x-2D) =

SX=0 X+S=0

C‘g O:O/ c:—QS=-‘QS/

28) 4x* —28x+40=0
4 (x*—=7x+10) =0
4(x-2)(x-8)=0

X=-2 =o X~-S=0
@-

C: O:O/ CO"U‘/
X-1=0
&=9)
C: 80=§0/

o

31) 5x* -3 =—>1<&X
42X+

e e
(sx-z)(x+ ] )=0

5x-3 =0 X+1 =0
£:-1.a=-1av ¢. 22/
"Q o
=2
C:10=]o/



Find each product. Remember to write answers in standard form (high to low exponents with

th t.
ecopit%lg ) \\
33(2x3l7x2 —6x-1) —8x(6x% — 4x — 6)
(4xS—12xt -@ @¥3+3ax2-+wx
/‘ﬁ
35) (4x — 8)(8x* + 6x +3) 36) (4x - 8)(2x +4x — 7)0

22 x5 424y X + FX >+ ?‘—-28x+
— UhxE 48X -2y = _fext—33x +St

—

[39X3-‘10x7-3(9x—;ﬂ | X >—box+S6 ]

37) (3x + 3)(__3£ ~3) 38) (2x —\1)/4”3)
QXL-Qx Y+bx -6 = XL +bx —lbX — 2=
| %2 -2x -0 | [ex —jox —12
—
39) 5x+\7)_§—7) 5 40) (7x +4)(75 - 4) o
GSX? -3SX+BSy 49 - “”""M"”"'
| | 49x+-/¢
~v 2
[ S¥ -14 |
41) (3x+8)2«—~1-£x pen d 42) (3x—5)2,Z N
(3:;)_@%) )(3/:@—53
~_—~—— XW
O/X “rzix vty et QXL—-ISX -ISX+35 =

)%L + 4 §x +(o‘+] [’{xl—aoﬁﬁ]




